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SARDAR PATEL UNIVERSITY 

B. Com. (III Semester) Examination 

Friday, 28 December 2012 

10.30 a. m.  12.30 p. m. 

UB03CCOM04  Fundamentals of Management Accounting 

 
kyQ_p: v$f¡L$ âñ_p NyZ 15 R>¡. Ly$g NyZ 60 R>¡. 
 

â. 1 k„Qpg_ rlkpbu `Ùrs A¡V$g¡ iy„? s¡_p gnZp¡ S>Zphp¡ A_¡ s¡ _pZp„L$ue 
rlkpbp¡ A_¡ `X$sf_p rlkpbp¡ L$fsp L¡$hu fus¡ Sy>v$p `X¡$ R>¡ s¡ kdÅhp¡. 

(15) 

 A\hp  
â. 1 (A) k„Qpg_ rlkpbu `Ùrs_u dep®v$pAp¡ kdÅhp¡. (08) 

 (b) d¡_¡S>d¡ÞV$ A¡L$pDÞV$ÞV$_y„ õ\p_, c|rdL$p A_¡ L$pep£ kdÅhp¡. (07) 
   

â. 2 (A) rih¡_ rgduV¡$X$_u dprlsu _uQ¡ dyS>b R>¡. (10) 
    rhNs         fL$d (`) 

   Qrgs MQp®       8,00,000/- 
   [õ\f MQp®       4,00,000/- 
     Ly$g `X$sf  12,00,000/- 
   h¡QpZ (10,000 A¡L$dp¡) 10,00,000/- 
      Mp¡V$    2,00,000/- 

 

 NZsfu L$fp¡: 
(1) _ap S>Õ\p_p¡ NyZp¡Ñf. 
(2) kds|V$ tbvy$ (A¡L$dp¡ A_¡ ê$r`epdp„) 
(3) Å¡ h¡QpZ qL„$dsdp„ 20% h^pfp¡ \pe sp¡ _hy„ kds|V$ tbvy$ ip¡^p¡. 
(4) Å¡ kds|V$ tbvy$ 16,000 A¡L$dp¡A¡ gphhy„ lp¡e sp¡ A¡L$dv$uW$ _hu h¡QpZ 

qL„$ds ip¡^p¡. 
(5) h¡QpZ qL„$ds `f 10% _ap¡ d¡mhhp S>ê$fu h¡QpZ (A¡L$dp¡ A_¡ ê$r`epdp„) 

ip¡^p¡. 
(6) Å¡ L„$`_u `1,00,000/- _ap¡ L$dpsu lp¡e sp¡ kgpdsu_p¡ Npmp¡ ip¡^p¡. 
(7) Å¡ L$fh¡fp `R>u_p¡ `50,000/- _ap¡ d¡mhhp¡ lp¡e sp¡ S>ê$fu h¡QpZ 

(A¡L$dp¡ A_¡ ê$r`epdp„) ip¡^p¡. (L$fh¡fp_p¡ v$f 50% R>¡.) 
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 (b) l¡d„s rgduV¡$X$ b¡ hõsyAp¡ ‘A’ s\p ‘B’_y„ DÐ`pv$_ L$f¡ R>¡. b„_¡ hõsy_¡ gNsu 
rhNsp¡ _uQ¡ dyS>b R>¡. 

(05) 

    rhNs     hõsy ‘A’  hõsy ‘B’ 
 A¡L$dv$uW$ h¡QpZ qL„$ds     `282/- 
 `390/- 
 A¡L$dv$uW$ âÐen dpgkpdN°u    `80/- 
 `110/- 
 A¡L$dv$uW$ S>ê$fu dS|>f L$gpL$p¡    35 L$gpL$  48 L$gpL$ 
 L$gpL$v$uW$ dS|>fu v$f     `3/-  `3/- 
 Qrgs `fp¡n MQp® (âÐen dS|>fu MQ®_p V$L$p) 60%   75% 
 b„_¡ hõsyAp¡_p¡ [õ\f iufp¡`fu MQ®  Ly$g  `18,000/- 

 

   Å¡ b„_¡ hõsyAp¡ dpV¡$ L$pfMp_pdp„ DÐ`pv$_ndsp A_y¾$d¡ ‘A’_p 
1,200 A¡L$dp¡ A_¡ ‘B’_p 1,500 A¡L$dp¡ lp¡e A_¡ dmu iL¡$ s¡hp dS|>f L$gpL$p¡ 
99,840 L$gpL$ lp¡e sp¡ dlÑd _ap¡ d¡mhhp¡ lp¡e sp¡ b„_¡ hõsy_y„ dlÑd 
DÐ`pv$_ L¡$V$gy„ L$fhy„ Å¡CA¡ s¡ v$ip®hp¡. 

 

 A\hp  
â. 2 (A) b¡ kdeNpmp_y„ h¡QpZ s\p _ap_u rhNs _uQ¡ dyS>b R>¡. (10) 

    hj®    h¡QpZ (`)  _ap¡ (`) 
   2010   50,000/-  5,000/- 
   2011   60,000/-  8,000/- 

 

 NZsfu L$fp¡: 
(1) _ap S>Õ\p_p¡ NyZp¡Ñf. 
(2) b„_¡ hj®_p Qrgs MQp® ip¡^p¡. 
(3) [õ\f MQ® ip¡^p¡. 
(4) kds|V$ tbvy$ ip¡^p¡. 
(5) `10,000/- _ap¡ L$dphhp S>ê$fu h¡QpZ ip¡^p¡. 
(6) Å¡ h¡QpZ qL„$dsdp„ 10% OV$pX$p¡ \pe sp¡ _hy„ kds|V$ tbvy$ ip¡^p¡. 
(7) h¡QpZ qL„$ds `f 10% _ap¡ d¡mhhp S>ê$fu h¡QpZ ip¡^p¡. 

 

   
 (b) S>ih„s rgduV¡$X$_u _uQ¡_u rhNsp¡ Ap`¡g R>¡. (05) 
    rhNs     hõsy ‘A’  hõsy ‘B’ 

 A¡L$dv$uW$ dpgkpdN°u MQ®    `20/-  `25/- 
 A¡L$dv$uW$ dS|>fu MQ®     `10/-  `15/- 
 A¡L$dv$uW$ Qrgs iufp¡`fu MQ®    `10/- 
 `15/- 
 A¡L$dv$uW$ h¡QpZ qL„$ds     `60/- 
 `100/- 

 

   hj®_p Ly$g [õ\f MQ® `10,000/- R>¡. _uQ¡_p `¥L$u L$ey h¡QpZ  
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rdîZ õhuL$pfhy„ Å¡CA¡ s¡ v$ip®hp¡. 
(1) hõsy ‘A’_p 900 A¡L$dp¡ A_¡ hõsy ‘B’_p 600 A¡L$dp¡ 
(2) a¼s hõsy ‘A’_p 1,800 A¡L$dp¡ 
(3) a¼s hõsy ‘B’_p 1,200 A¡L$dp¡ 
(4) hõsy ‘A’_p 1,200 A¡L$dp¡ A_¡ hõsy ‘B’_p 400 A¡L$dp¡ 

   
â. 3 r_kN® rgduV¡$X$_u _uQ¡_u rhNsp¡ `f\u spfuM: 31 Ap¡¼V$p¡bf, 2011_p fp¡S> 

`|fp \sp ÓZ dpk_y„ fp¡L$X$ bS>¡V$ s¥epf L$fp¡. spfuM: 1 Ap¸Nô$, 2011_p fp¡S> 
fp¡L$X$ rkgL$ `1,80,000/- R>¡. 

(15) 

 
2011 dpk 

Ly$g h¡QpZ 
(`) 

Ly$g Mfuv$u 
(`) 

dS|>fu 
(`) 

L$pfMp_p 
`fp¡n MQp® 

(`) 

AÞe MQp® 
(`) 

S|>_-2011 
Sy>gpC-2011 
Ap¸Nô$-2011 
kàV¡$çbf-2011 
Ap¡¼V$p¡bf-2011 

200000 
300000 
400000 
500000 
600000 

120000 
180000 
240000 
300000 
400000 

36000 
40000 
44000 
48000 
52000 

21000 
24000 
27000 
30000 
33000 

55000 
65000 
75000 
85000 
95000 

 

 

 h^pfp_u dprlsu: 
(1) fp¡L$X$ h¡QpZ A_¡ D^pf h¡QpZ_y„ âdpZ 1:3 R>¡. 
(2) D^pf A_¡ fp¡L$X$ Mfuv$u_y„ âdpZ 1:1 R>¡. 
(3) v$f¡L$ dpkdp„ D^pf h¡QpZ_p 10% dpg `fs Aph¡ R>¡. 
(4) D^pf h¡QpZ_p 50% _pZp„ h¡QpZ `R>u_p â\d dpkdp„ hkyg Aph¡ R>¡ 

A_¡ bpL$u_p 50% _pZp„ Ðepf`R>u buÅ dpkdp„ hkyg Aph¡ R>¡. 
(5) g¡Zv$pfp¡ A¡L$ dpk_u ipMp Ap ¡̀ R>¡. 
(6) Ly$g Qp¡¿Mp h¡QpZ_p 5% g¡M¡ h¡QpZ `f L$dui_, Mf¡Mf h¡QpZ \ep 

`R>u_p dpkdp„ Q|L$hhpdp„ Aph¡ R>¡. 
(7) Q|L$hZu kdeNpmp¡: dS|>fu 1/4 dpk `R>u 
     L$pfMp_p `fp¡n MQp® 1/3 dpk `R>u 
     AÞe MQp® 1/2 dpk `R>u 

 

 A\hp  
â. 3 ""h©„v$ph_'' rgduV¡$X$_u _uQ¡_u dprlsu `f\u 60%, 80% A_¡ 100% 

DÐ`pv$_ k`pV$u dpV¡$ `qfhs®_iug bS>¡V$ v$ip®hp¡ S>¡ _uQ¡_u 50% k`pV$u_p 
Ap^pf¡ s¥epf L$fp¡ s¡dp„ v$f¡L$ k`pV$uA¡ Ly$g `X$sf, A¡L$dv$uW$ `X$sf A_¡ _ap¡ 
v$ip®hp¡. 

(15) 

     rhNs 
 DÐ`pv$_ A_¡ h¡QpZ A¡L$dp¡ (50% k`pV$uA¡)   5,000 
A¡L$dp¡ 
 âÐen dpgkpdN°u MQ® A¡L$dv$uW$     `  20/- 
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 âÐen dS|>fu MQ® A¡L$dv$uW$      `  10/- 
 AÞe âÐen MQp® A¡L$dv$uW$      `  15/- 
 L$pfMp_p `fp¡n MQp® (50% [õ\f)     `  50/- 
 hluhV$u `fp¡n MQp® (100% [õ\f)    `  40/- 
 h¡QpZ rhsfZ `fp¡n MQp® (75% Qrgs)   `  60/- 
    A¡L$dv$uW$ Ly$g `X$sf    `195/- 
    A¡L$dv$uW$ h¡QpZ qL„$ds    `200/- 
    A¡L$dv$uW$ _ap¡     `   5/- 

   
â. 4 _uQ¡_u rhNsp¡ A¡L$ L$pfMp_p_¡ gNsu R>¡ S>¡_p `f\u dpgkpdN°u MQ® rhQg_p¡_u 

NZsfu L$fp¡. 
(15) 

  âdpZ  Mf¡Mf 

dpgkpdN°u S>Õ\p¡ 
(kg.) 

cph 
(`) 

Ly$g 
(`) 

 S>Õ\p¡ 
(kg.) 

cph 
(`) 

Ly$g 
(`) 

A 200 2 400  180 2.20 396 
B 100 5 500  120 4.80 576 

 300  900  300  972 
Mp¡V$ 20  ---  30  --- 

 280  900  270  972 
 

 

 A\hp  
â. 4 _uQ¡_u dprls `f\u dS|>fu MQ® rhQg_p¡_u NZsfu L$fp¡. (15) 

  âdpZ  Mf¡Mf 

 
dS|>f 
L$gpL$p¡ 

v$f 
(`) 

dS|>fu 
MQ® 
(`) 

 
dS|>f 
L$gpL$p¡ 

v$f (`) 
dS|>fu 
MQ® 
(`) 

`yê$jp¡ 500 3 1500  700 3.20 2240 
÷uAp¡ 300 1.20 360  300 1.00 300 

 800  1860  1000  2540 
 

 

 

 

 


